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Grade 3 /Maths/L-4/Worksheet




Robin has 726 Lego blocks. Emily has 107 fewer blocks than Robin. Work
out the number of blocks Emily has.

Robin has 726 blocks.
Emily has 107 fewer blocks than Robin.
Emily has 726 —107 = 619 blocks.

There are U311 cars and 179 motorbikes parked in a parking lot. Work out
the total number of vehicles.

U31 +179=610

Find the number of packets of water colours.
Also, estimate your answer using rounding.

a. Mumber of water colour packets = 2000 — (U32 + 1180)
= 2000 —-1612
= 388 water colours.
b. W00 water colours.

0.4 Solve mentally

325 +85 = W10 584 +9 = 593

690 - 60 = 630 700 —-99 = £01

us + 175 = 220 8588 —UO8 = uUus0

831 —19 = 822 82 + 318 = uono

532 — (] = 532 200 + 300 |=| 200 |+ 300
9QQ9q + 0 =999 T — rri =0
287 + 1 =288 800 — 1 = 799
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